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a) lim
x → 2
y → 0

sin(xy2)

y2 + (x − 2)2
, b) lim

x → 0
y → 0

ex
2+y

2 − 1

x2 + y2
, c) lim

x → 0
y → 0

sin(x4 + y4)

x2 + y2

IJ03KE4�L+;>G�MON�9QPSR�GUT�R�7�A�C<G�M�V:=W?YX:R�Z[C]\
^�A�X:G`_W;

a) f(x, y) = (sin x)log y, b) f(x, y, z) =
√

xy(3x + 2z)
√

yz

a�03KE=YM�6:G�R�Z[6:9E4SbcV:7dZeN�M�A�6:G�MfC�A�;>6gR14�_WhO?BR1iWG�;5=@?BR1jfX#6�k�_WCfiYL+;,ZlZeN�A�;+X"^mPSR1no;p68FY^q=W?`Zr;+C�FY7�M�R1A�R�k
jfCsP�FYR1no;>CftuP,R�7�=W?B6�ZeNdZeNJA�R1=Y;

r = 3 ± 0, 02
k�6vZeN�=YR1X"iY9

h = 2 ± 0, 03
0

w 03254�687�6:9<C�X"=W?YFYCfnd6x\
^�A�X8Gy_W;
z = f(x, y)

7�Lp6

a) f(x, y) = x3 + 3x2y − 6xy − 3y2 − 15x − 15y

b) f(x, y) = 4xy +
1

x
+

1

y

c) f(x, y) = (6 − x − y)x2y3

d) f(x, y) = x − 2y + log
√

x2 + y2 + 3arctg
y

x
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